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QUESTION 1

SRDF/Metro has been deployed between two data centers. SRDF/Metro is operating normally. Maintenance tasks at
the R1 data center require the array to be offline.

Which SRDF operation should be executed on the Metro RDF pairs to facilitate the planned outage without affecting
application 1/0?

A. Failover

B. Split with bias set to R2

C. Suspend with bias set to R2
D. Swap

Correct Answer: A

QUESTION 2

A company is evaluating the deployment of SRDF/Star on VMAX3 arrays. One of the concerns is that the SRDF
daemon represents a single point of failure.

How could this concern be addressed?
A. RDF daemon process runs on the embedded Tools Virtual Machines and has built-in high availability.

B. Run RDF daemons on multiple management stations at the workload site. RDF daemons will cooperate with each
other.

C. Run an RDF daemon on one management station at each of the three sites. If the workload site RDF daemon fails,
one of the RDF daemons from the other two sites will take over.

D. RDF daemon process runs on the VMAXS3 array. If the workload site RDF daemon fails, the RDF daemon from one
of the other sites will take over.

Correct Answer: D

QUESTION 3

SRDF/Metro has been deployed in a non-Witness configuration. Each data center has one VMAX3 array. What is the
SRDF pair state under normal operating conditions?

A. Consistent
B. Synchronized
C. ActiveActive

D. ActiveBias
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Correct Answer: A

QUESTION 4

A company is using SRDF/AR Multi-Hop as a disaster recovery solution. Their primary application requires 27.3 TB on
their primary site. How much storage capacity is required on the third site?

A.Only 27.3TB
B.27.3t054.6 TB
C.Only54.6 TB

D. Greater than 54.6 TB

Correct Answer: C

QUESTION 5

Which parameter values will result in a Static Cache Partition in a VMAX All Flash array?
A. Min=30%, Target=30%, Max=30%

B. Min=30%, Target=30%, Max=80%

C. Min=30%, Target=60%, Max=60%

D. Min=30%, Target=60%, Max=80%

Correct Answer: C
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